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SBI PO Mains Reasoning Memory Based Paper 
 

Q1. Statement: In a well-known school, the canteen earlier 

sold cream biscuits that were very popular among students. 

However, parents began complaining that children were 

skipping their proper lunch and buying only cream biscuits. 

The school doctor also noticed an increase in toothaches 

and stomach-related complaints among students, which he 

linked to excessive biscuit consumption, so the school has 

stopped the sale of cream biscuits. 

What could be the possible reason behind stopping the 

sale of cream biscuits in the school canteen? 

(a) Cream biscuits were very costly and beyond students’ 

pocket money. 

(b) Students were skipping their healthy meals and facing 

health problems due to excessive consumption. 

(c) Teachers wanted to introduce new food items in the 

canteen menu. 

(d) Parents demanded only homemade food to be served in 

the canteen. 

(e) The school principal disliked cream biscuits personally. 

 

Directions (2-4): Each question below is followed by two 

statements numbered I and II. You have to decide 

whether the data provided in the statements are 

sufficient to answer the question. Read both statements 

carefully and give answer:  

 

Q2. Six persons P, Q, R, S, T, U sit in a row and face north. 

Who sits immediately to the right of U? 

Statement I: P sits third to the left of T. R sits to the right of 

P. U sits to the left of T. Two persons sit between S and R 

Statement II: One person sits between Q and P. S sits to the 

left of Q. U sits second to the left of Q. T is not an immediate 

neighbour of P and Q. 

(a) Data given in both statements I and II together are 

sufficient to answer 

(b) Data given in statement I alone is sufficient to answer 

(c) Data given in statement II alone is sufficient to answer 

(d) Data given in both statements I and II together are not 

sufficient to answer 

(e) Data given in either statement I or statement II alone is 

sufficient to answer the question 

 

Q3. Six persons A, B, C, D, E, and F submit their projects 

on six different days of the week starting from Monday 

to Saturday. Who submits the project on the first day of 

the week? 

Statement I: B submits project immediately before E but 

after A. Two persons submits project between B and D who 

submits project immediately before A. F submits project 

after C but before E. 

Statement II: E submits project before D. More than three 

persons submit the project after B. D submits the project 

two persons after B. C submits the project before F. As many 

persons submit the project before F as after B. 

(a) Data given in both statements I and II together are 

sufficient to answer 

(b) Data given in statement I alone is sufficient to answer 

(c) Data given in statement II alone is sufficient to answer 

(d) Data given in both statements I and II together are not 

sufficient to answer. 

(e) Data given in either statement I or statement II alone is 

sufficient to answer the question 

 

Q4. Six boxes A, B, C, D, E, and F are kept one above the 

other in a stack, not necessarily in the same order. 

Which box is kept at the second position from the top? 

Statement I: Box C is kept above box E. Box A is kept three 

boxes below box E. Box D is kept adjacent to box E but below 

box F 

Statement II: Box F is kept above box D. Box A is kept below 

box B. Box E is placed above box A. More than two boxes are 

placed between Box B and box F. 

(a) Data given in both statements I and II together are 

sufficient to answer 

(b) Data given in statement I alone is sufficient to answer 

(c) Data given in statement II alone is sufficient to answer 

(d) Data given in both statements I and II together are not 

sufficient to answer 

(e) Data given in either statement I or statement II alone is 

sufficient to answer the question 

 

Q5. Seven letters are arranged to form a meaningful 

word. I is placed at the extreme left end. Three letters 

are placed between I and U. Letter E is placed two places 

away from letter U. D and E are placed adjacent to each 

other. N is placed to the left of U. Only one letter is placed 

between N and L. C was also one of the seven letters. 

Now, if only one meaningful word is formed then, which 

letter is third letter from the left end of the newly 

formed word. If no meaningful word is formed, mark X 

as your answer, and if more than one such word is 

formed, mark Y as your answer? 

(a) E 

(b) D 

(c) X 

(d) C 

(e) Y 
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Directions (6-10): A word and number arrangement 

machine when given an input line of numbers 

rearranges them following a particular rule in each 

step. The following is an illustration of an input and 

rearrangement. 

Input: BD524  CF683  MK237  LQ145  YU432  EN739 

Step I: DB252    FC643     KM491    QL253    UY161    NE814 

Step II: BD20     CF72       MK36       LQ30      YU6         EN32 

Step III: AC60     BE216     LJ108     KP90     XV18        FM96      

Step IV: CA62     EB218     JL110     PK92     VX20        MF98     

Step V:   XZ8       VY2        QO2        KP2        EC2          NU8 

And Step V is the last step of the rearrangement of the for 

the given input. As per the rules followed in the above steps, 

find out in each of the following questions the appropriate 

steps for the given input. 

Input: RT541      AS472    HW483    VX198     ZT652    JU341 

 

Q6. What of the following element is present in Step II? 

(a) RT20       

(b) VY56         

(c) HW24      

(d) AS74       

(e) None of these 

 

Q7. Which among the following combination of letters 

are there in Step IV? 

(a) VZ 

(b) NU 

(c) MF 

(d) SY 

(e) None of these 

 

Q8. What will be the sum of all the numbers in Step V? 

(a) 16 

(b) 18 

(c) 22 

(d) 24 

(e) 20 

 

 

Q9. In which step, the given combination of numbers 

and letters are present in the same manner “GV72    

UW168    YS162” as given? 

(a) Step II 

(b) Step IV 

(c) Step I 

(d) Step V 

(e) Step III 

 

Q10. How many numbers are divisible by 4 in Step IV? 

(a) One 

(b) Two 

(c) Three 

(d) Four 

(e) Five 

 

Directions (11-15): Read the given information 

carefully and answer the related questions: 

Eight persons of a three-generation family were born on 

same date and same month of different years – 1944, 1954, 

1961, 1979, 1993, 1998, 2007, 2014. They are of different 

ages and likes different color. Their age is calculated with 

respect to the base year 2025. 

Note: In a married couple, husband is older to his wife. 

Age digit of K's child is reverse to the age digit of K's father. 

Age of P’s daughter is equal to the sum of ages of R and the 

one who likes pink. Age of the one who likes grey is the cube 

of a number. Four persons were born between N and the one 

who likes grey. Age difference between N and the one who 

likes yellow is same as the age difference between P’s only 

granddaughter and the one who likes yellow. Q is sister-in-

law of K and has two children. L’s mother is immediate older 

to L who does not like pink. Three persons were born 

between L and the one who likes green. P is three persons 

older to the one who likes orange. Age difference between K 

and the one who likes red is 17 years. O does not like pink 

and blue. One of the parents of M is not alive. Age of the one 

who likes white is an odd number.  

 

Q11. Which of the following statement is true? 

(a) Q likes grey 

(b) L’s grandmother likes blue 

(c) Total age of O and K is multiple of 4 

(d) M is younger to at least four persons 

(e) M’s uncle is older to P 

 

Q12. Choose the incorrect combination. 

(a) 1979 – L’s father - yellow 

(b) 1944 – Q’s father-in-law - red 

(c) 1998 – O’s brother - grey 

(d) 1961 – M’s mother - blue 

(e) 2007 – R’s niece - pink 
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Q13. The number of persons older to K’s mother is one 

less than the number of persons younger to the one who 

likes ____. 

(a) Blue 

(b) Grey 

(c) White 

(d) Pink 

(e) None of the above 

 

Q14. The one who is two persons older to L’s cousin was 

born in which year? 

(a) 1998 

(b) 1976 

(c) 1993 

(d) 1961 

(e) 1954 

 

Q15. What is the total age of females who are in second 

generation? 

(a) 96 years 

(b) 91 years 

(c) 78 years 

(d) 59 years 

(e) None of the above 

 

Solutions 
 

S1. Ans.(b) 

Sol. Students were skipping their healthy meals and facing 

health problems due to excessive consumption. 

Explanation: The statement clearly mentions that Parents 

complained children were skipping lunch. The school 

doctor reported toothaches and stomach problems linked to 

cream biscuit consumption. Hence, the sale was stopped 

due to health concerns. 

 

S2. Ans.(c) 

Sol. From statement II: S sits immediately to the right of U. 

 
 

S3. Ans.(b) 

Sol. From statement I: C submits the project on first day of 

the week 

Weeks Persons 

Monday C 

Tuesday D 

Wednesday A 

Thursday F 

Friday B 

Saturday E 

 

S4. Ans.(a) 

Sol. From statement I and statement I: Box C is placed at the 

second position from the top 

Boxes 

F 

C 

E 

D 

B 

A 

 

S5. Ans.(d) 

Sol. Meaningful word formed – INCLUDE. 

 

Solutions (6-10): Logic here is: 

Step I: For letters: The position of the letters is 

interchanged with each other. 

For numbers: The square of the highest digit is arranged 

first, then the difference of other two remaining digits is 

written. 

Step II: For letters: The position of the letters is 

interchanged again in this step. 

For numbers: All the digits of the numbers are multiplied 

within each other. 

Step III: For letters: Each vowel is changed to immediately 

succeeding letter and each consonant is changed to 

immediately preceding letter. 

For numbers: All the numbers are multiplied by 3. 

Step IV:  For letters: The position of the letters is 

interchanged again. 

For numbers: The numbers are added by 2 

Step V: For letters: The letters are changed to its opposite 

letter according to English alphabet order. 

For numbers: All the digit within each number is added 

until the unit digit is obtained. 

Input: RT541      AS472    HW483    VX198     ZT652    JU341 

Step I: TR253     SA492    WH641    XV817     TZ363    UJ162 

Step II: RT30      AS72      HW24     VX56        ZT54       JU12 

Step III: QS90     BR216    GV72    UW168    YS162     IV36 

Step IV: SQ92      RB218    VG74    WU170     SY164    VI38 

Step V:  HJ2         IY2          ET2      DF8          HB2        ER2 

 

S6. Ans.(c) 

S7. Ans.(d) 

S8. Ans.(b) 

S9. Ans.(e) 

S10. Ans.(b) 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/activity/DAILY_QUIZZES
https://www.adda247.com/activity/PYP
https://www.adda247.com/activity/MAGAZINES


 
 

4 
 

                                   
 

Solutions (11-15):  

Years Age Persons Colors 

1944 81 N Red 

1954 71 P Green 

1961 64 K Blue 

1979 46 R Yellow 

1993 32 Q Orange 

1998 27 L Grey 

2007 18 M Pink 

2014 11 O White 

Family Relation:  

 
 

S11. Ans.(d) 

S12. Ans.(e) 

S13. Ans.(b) 

S14. Ans.(c) 

S15. Ans.(a) 
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